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EXETRERE
& B I & Al H Al ) Bl % e8| B @ & % =
B ERk =X 1 11,553,590
X E Bk = 1 11,225,664
HmEERL =X 1 8,324,704| z DRI, —REBEEZEST
FEEA A—1 % 3 125,032 375096\ HE1 MEEE FEDH
TEXB A—1 " 3 83,355 250065|2 5 E2 THEERE FHEDH
FEEC A—1 " 3 41,677 125031 |8 HE3 SHEEHE EEDH
FERD A—1 " 3 137,535 412605($¢ 551 SHEEHE SETEERFSE
TERE A—1 " 3 91,690 275070|# 5 E2 fHEEE SEXIFAERE
EERF A—1 " 3 45,845 137,535(# 5 E3 HEBE SEX(TAEHFE
FEEG A—1 % 3 112,529 337587|¢k5E1 HEBEE SETEEDNH
3 @ EH A—1 " 3 75,019 225057|¢k 552 HEEE SETEEDNH
F E X1 A—1 % 3 37,509 112,527|$# 5 E3 Sk SEZAEDH
it BT B A A—1 ® 3 53,272 159,816 |44 5 1
it bfr (1B A—1 ® 3 35,515 106,545 |84 HE2
it T B4 C A—1 ® 3 17,757 53,271\ HE3
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EEEV
Htr B A—1 54 3 118,733 356,199|# S E2 Mgl HEDH
EEEY
HEBETXIC A—1 54 3 59,366 178,098|£ 5 E3 Sk HEDH
EEEY
HE BT XD A—1 " 3 195,909 587,727|% 5 E1 HMEEE SEXXITAEME
EEEY
it 7 X E A—1 R 3 130,606 391818| 5 E2 MEEE SEXXITAEME
EEEV
it B X F A—1 54 3 65,303 195909 (£ 5 E3 S SEXXIFALEMRE
EEEY
G A—1 54 3 160,289 480,867 | S E1 SEBE SEXIFAENH
EEEY
Hittr =IH A—1 54 3 106,859 320577 |5 E2 SEEE SEXIFAENH
EEEY
0t b7 (X1 A—1 54 3 53,429 160,287 |$# 5 E3 HMEE# SEXFAENH
XA A—1 " 4 24216 96,864|# FFE1
B XB A—1 " 4 16,144 64,576|% 5 E2
HERXC A—1 " 4 8,072 32,288|# B3
ZEERKA [A—1 " 4 67,426 269,704 | ¥ 5 FE 1
ZEEEKB [A—1 " 4 44,951 179,804|g 5 =2
ZEFEKC [A—1 " 4 22475 89,900|# ZFE3




%% EREERNEFEAES

EXETNERE
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FIEEBARA |A—1 ] 4 79,885 319,540 | S FE 1
EEEMNB |A—1 " 4 53,257 213,028($ HE2
£IEEBARC |A—1 ] 4 26,628 106,512|$# H 3
IMEEYIRA  |A—1 ] 4 41,070 164,280 |4 5 1
IMEEYEB  |A—1 " 4 27,380 109,520|$ FE2
IMEEYRC  |A—1 ] 4 13,690 54,760|$ A3
— B E YA [A—1 ] 4 105,993 423,972|$ 5 E 1
— B E B [A—1 ® 4 70,662 282,648\t HE2
— B EYEIC [A—1 ] 4 35,331 141,324 |8 53

HEHEE 2 1 853,920 Z Db fli, — I EBEEEL
BEHEEA |A—4 ® 40 10,674 426,960| £t 5 £ 1
BEHEEB |A—4 ® 40 7,116 284,640($ S E2
BEHEEC |A—4 ] 40 3,558 142,320|8 5 &3

RETAEE 2 1 2,047,040| Z D/l —REEHEEEEL
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